
ASSEMBLY MANUAL
TWIN / FULL BUNK

FOR ANY REASON, DO NOT ALLOW TO JUMP OR PLAY IN THE BUNK
DO NOT USE WATER MATTRESS, DO NOT USE UNTIL THIS MANUAL WILL BE READ

W A R N I N G
To help to prevent serious or fatal injuries from entrapment or
falls:
 Never allow a child under 6 years on upper bunk.
 Use only mattress which is 74” - 75” long and

         37 ½” - 38 ½” wide on upper bunk and lower bunk.
 Ensure thickness of mattress and foundation combined

does not exceed 8 ½” and mattress is at least 5” below
upper edge of guardrails.

 Use guardrails on both side of upper bunk.
 Prohibit horseplay on or under bed(s).
 Prohibit more than one person on upper bunk.
 Use ladder for entering and leaving upper bunk.

STRANGULATION HAZARD  - Never attach or hang items to
any part of the bunk bed that are not designed for use with the
bed; for example, but no limited to, hooks, belts and jump
ropes.

W A R N I N G
To help to prevent serious or fatal injuries from entrapment or falls:
 Never allow a child under 6 years on upper bunk.
 Use only mattress meeting the following specifications on

upper bunk and lower bunk:
      Bed Type Length  Twin Width Full Width
 Standard Length 74” - 75”  37 ½” - 38 ½” 53 ½” - 54 ½”
 Extra Long 79” - 80”  37 ½” - 38 ½” 53 ½” - 54 ½”
 Ensure thickness of mattress and foundation combined does

not exceed 8 ½” and mattress is at least 5” below upper edge
of guardrails.

 Use guardrails on both side of upper bunk.
 Prohibit horseplay on or under bed(s).
 Prohibit more than one person on upper bunk.
 Use ladder for entering and leaving upper bunk.

STRANGULATION HAZARD - Never attach or hang items to any
part of the bunk bed that are not designed for use with the bed; for
example, but no limited to, hooks, belts and jump ropes. www.intercon-furniture.com



Parts List

J BLACK SCREW PHILLIPS 1/4" x 1 1/2" 12

I BLACK HEXAGONAL NUTS 1/4" 4

H BLACK PRESSURE WASHERS 1/4" 4

G BLACK WASHERS 1/4" 4

F BLACK SCREW PHILLIPS 1/4" x 2" 4

E HEX SCREW 5/16" x 3/4" 16

D GUARDRAIL 2

C2 TOP PLATFORM (TWIN) 1

C1 BOTTOM PLATFORM (FULL) 1

B FOOTBOARD 1

A HEADBOARD 1

Assembly Twin / Full Bunkbed

Place the bottom platform (C1) in to the
holes of headborad (A) and footboad (B) and
securing them with the supplied screws (E).
Fig 1.

Step 1

A

C1

Fig. 1

A

B

C1

C2

D

A
D

J

E

Fig. 3

Fig. 2

Do the same with the top platform (C2)
and reinforce with the screws, washers
and nuts (F+G+H+I) in the four corners.
Fig 2.

Step 2

A A

C2 C2

Position the guardrails (D) by aligning the
holes with those of the headboard (A) and
footboard (B) securing them with the
supplied screws (J). Fig 3.

Step 3


	[Instructivo] Intercon Literas [Ingles]-Litera I-M [Ingles].pdf
	[Instructivo] Intercon Literas [Ingles]-Litera I-M [Ingles2.pdf

